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1. (10 pts)  Determine a square root A  for the matrix A 
shown. 

9.25 3.5
=

10.5 3
 
 − 

A
−

 
 

2. (20 pts)  Determine a square root B  for the matrix B 
shown. (Hint: 31 2 1.λ λ λ> > = ) 

 
 

7 2.5 33
2.5 7.25 7.5

1 5 7

− 
 = − 
 − 

B  
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Answers: 
 
 

1.        1−=A M SM  
 

           1 24 2.25,   λ λ= =  
 

  2 1
3 2
 

=  
 

M    1 2 1
3 2

− − =  − 
M  

 
 

3.5 1
=

3 0
− 

 
 

A  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

    2.        1−=B M SM  
 

1 2 34 2.25, 1,  λ λ λ= = =  
 

3 14 20
0 1 2
1 4 5

− − 
 =  
 − − 

M  

 
 

1
3 10 8
2 5 6
1 2 3

−

− 
 = − 
 − − 

M  

 
 

4 5 18
1 3.5 3
1 0 5

− − 
 = − 
 − 

B  
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